



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{1}{6}\right)^0 - \frac{2}{5} =$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^0 - \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{2}{5}\right) - \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} =$$

$$\left(\frac{2}{5}\right) + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^0 + \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{4} =$$



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{1}{6}\right)^0 - \frac{2}{5} = \frac{3}{5}$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{4}\right) = 0$$

$$\left(-\frac{2}{5}\right)^3 - \frac{2}{5} = \left(-\frac{58}{125}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} = \left(-\frac{6}{25}\right)$$

$$\left(\frac{2}{5}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{21}{64}\right)$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) = \frac{7}{12}$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) = \frac{263}{320}$$

$$\left(-\frac{2}{5}\right) - \frac{3}{5} = (-1)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} = \frac{3}{10}$$

$$\left(\frac{2}{5}\right) + \frac{1}{6} = \frac{17}{30}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) = \frac{1}{8}$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{71}{100}\right)$$

$$\left(-\frac{3}{4}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{3}{5}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} = \frac{7}{12}$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{29}{54}\right)$$

$$\left(\frac{3}{4}\right)^3 + \frac{2}{5} = \frac{263}{320}$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{4} = \left(-\frac{3}{8}\right)$$